
Name: _________________        Date: __________       Score: ___/13 (mid)  
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

                    = 5,037 - 345 

    700,530   = 700,000 +               + 30 

88 ÷ 22 =  



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

35 – 6.7 = 

0.43 x 1000 =  

2/3 + 3/4 = 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 0.5 x 122 =  

1/7 of 4,200 = 

60% of 3,000 = 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

43/7 – 6/7 = 

1/6 + 1/9 = 

12 7 3 6 
   4 5 


